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AE W Fo Al 1B, C, DE & 2= Alv= 479
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3. U2 2¥3 Zo] AC = BC ¢l o] 5HAZd ABC oA A = 66°
Ao, 1x 9] 27]=9

@® 130° @)132° ® 134° @ 136° ® 138

Lx = 66° + 66° = 132°
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4 A= (A, B, O)9 &A= (719, K, B), (5H¢],
741, ZHR1), (K, BES, HE9D) &f 3 71| o]t

ojmf, B, CE AS} Ze2 oz WA= gloma A B, C
Z T AFETEO] o]7] = B E=3+3+3=9 (7IA)
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HPAPHY ABCD |4 BC,CD 9] 42 A
27} P,Q 2 54k nABCD = 84cm? &
o, AAPQ ¢] Hol= Eukelzt?

@ 29.5cm? @ 30cm? @ 30.5cm?

@ 3lcm? ®)31.5cm?
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AAPQ = OJABCD - AABP — AAQD — APCQ
1 1
:84—i><84—1><84—§><84
=84-21-21-10.5
=315 (cmz)




